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Agent types

 Four basic types in order of increasing
generality:

- Simple reflex agents
» Model-based reflex agents |
» (Goal-based agents
- Utility-based agents :
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Model-based reflex agents
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Goal-based agents |
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Utility-based agents

@ow the world evolves

@ hat my actions do

Agent

What the world

is like now

What it will be like
if | do action A

How happy | will be
in such a state

JUBWIUOJIAUT

What action |
should do now

!
NN

P P ——

L - ~—




Learning agents
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Chapter 3

» Search
— Problem-solving agents
— Problem types
— Problem formulation
— Example problems
— Basic search algorithms
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Problem-solving agents

B

function SIMPLE-PROBLEM-SOLVING-AGENT( percept) returns an action
static: seq, an action sequence, initially empty ;-
state, some description of the current world state

goal, a goal, initially null .

problem, a problem formulation "

state <— UPDATE-STATE( state, percept)

if seq is empty then do
goal < FORMULATE-GOAL(state)
problem <~ FORMULATE-PROBLEM(state, goal)
seq < SEARCH( problem)

action < FIRST(seq)

]
seq <+ REST(seq) |
return action




Example: Romania

- On holiday in Romania; currently in Arad.
 Flight leaves tomorrow from Bucharest

— be in Bucharest

— states: various cities
— actions: drive between cities

— sequence of cities, e.g., Arad, Sibiu, Fagaras, Bucharest é




~ Example: Romania |
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Problem types

-> single-state problem
— Agent knows exactly which state it will be in; solution is a sequence

—> sensorless problem (conformant problem)
— Agent may have no idea where it is; solution is a sequence

—> contingency
problem

— percepts provide new information about current state
— often interleave} search, execution

—> exploration problem
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